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Vi =10V, Q duty cycle = 50%, L=200uH, C: large

R =20, f;=100kHz, all ideal semiconductor components.

(a) Under this condition, is the converter operating in a Continuous Conduction Mode
(CCM) or Discontinuous Conduction Mode (DCM)? (8%)

(b) Sketch i(t) waveform (Just the wave shape. No need to indicate the amplitude.)
(5%)

(¢) What’s the input average current? (Uin)avg (5%)
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Vi =100V, V, =5V, P,(output power) = 100W, L, = 100uH, C very large
fs = 100kHz, transformer Np; ¢ Ng.=10:1

(a) Find the duty cycle of Q. (5%)

(b) What’s the voltage Virain-to-source of Q7 (5%)

(c) What’s the peak current of the diode? (5%)
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